


[1] EXTEND
[1-1] 0/18 nd 0.038 EXTEND2010
ng/L
EXTEND 2010
[1-2] 13/18 | nd 0.033
0.76 ng/L
ng/L
EXTEND 2010
[2
[2-1]]2,3- 0/18 nd 3.1 ng/L 20
[2-2] | 2,4- 3/18 {nd 28| 1.1ng/L
ng/L
[2-3]|2,5- 1718 |nd 22| 1.8 ng/L
ng/L
[2-4]|2,6- 0/18 nd 1.5 ng/L
[2-5] | 3,4~ 7/18 | nd 25| 26 ng/L
ng/L
[2-6]]3,5- 0/18 nd 2.3 ng/L
[3]1 [11- 4/17 | nd 19 ng/mé
2,700
ng/mé 14
[4] 0/14 nd 34 ng/L
=4-
-3-[4'-(2,4-
)-11'-
4-
]-5-
—6-
-2,7-
Cl
38




[5] | NN- 5/12 | nd 15 | 0.80 ng/L
-n- ng/L
14
[6] |MNN- 3/13 | nd 6.2 ng/L
1,200
ng/L 14
[71 |2-( 1/15 [nd 1.1 0.82 ng/L
ng/L
)-1,3-
TCMTB
[8] |o- 0/15 nd 0.46 ng/L
[9] 3/16 | nd 11 ng/mé
210
ng/mé
248
[10] |24.6- 0/14 nd 13 ng/mé
14
[11] 3/11 [ nd 10 | 2.4 ng/L
=1,1'- ng/L
_2-




- n 17 ng
12] 3 0/16 d [0.17 ng/L [EXTEND EXTEND2010
-135 EXTEND2010
(10),7-
-17-
EXTEND
2010
- nd [ 0.9ng
[13] |44 0/14 d [ 09ng/L
[14] [3-(4- 0717 | nd | 440 ng/L |EXTEND
EXTEND2010
)-17.7-
[2.21]
-2- EXTEND 2010




[1] 0/22 nd 25 ng/L
-159-
2/23 | nd 34 0.32
ng/g-dry | ng/g-dry
1713 | nd 11 0.32
ng/g-wet| ng/g-wet
[2] [24- -tert- 0/25 nd 0.98 ng/L
7/24 | nd 16 0.14
ng/g-dry | ng/g-dry
[3] 2/23 | nd 140 ng/L
310,000
ng/L
13
[4] 13- 0/25 nd 49 ng/L
[5] 2/21 |nd 0.41]0.14 ng/m?
= ng/m®

248




= 9/22 | nd 38 | 5.2ng/L
[6] ng/L
2- 23/23|59 2,300{ 20 ng/L
[7] -2- ng/L
tert- 24

23




